How to assembly heat bed

1,First step, as the pic,Screw on M3 T-nuts, M3 X 4 double-pass pillars,

M3 X 12 screws.

BT EPTR, 18M3 TRMES, M3x4 JUBHHE . M3x12 982247 .

Red and black

mperature line

HOT JOoNE
DO NO- TOUCH!
y

» power off the heatbed

ast 10 minutes!
er powered off!

ot bed plus hotline ( white line )
Regardless of the + and -



2,Second step, As pic show, according to the specified color, Connect the
power cable, DC cable to access Switching Power Supply corresponding to

the location of terminals, Do not exposed metal part of the wire!

Severe warning :
Whenever installation, adjustment of switching power supply,

Always remember to unplug the power, remember!

T BT, Eeiffk. DEREESSEANRRFEN R RMELRT, BDEREE R FEEH!
ez BEHXBIE, EF5LCHAR T BiRihAS, Yhc!




3, Third step,Connect white plus hotline to HOT BED terminals, red and

black temperature cable into TB horns socket.

FEEMMEREAHOT BEDELZIR T, (ABFIASIMA TR AiRE.

......................................

---------------------

‘e e i ",;'m‘f:::h
i Hp? El’“ Eigtj 2

N
4

B - ) :
; usjt—m“mjfr; m;j ( oo @

\ vi.1 |
g 1N
) JMICROMAKE) i

T —————

il B = o ..-;,..._‘ W A
. Redandblack
@ temperatu:einé"‘ - oo

"‘"ﬁd

Hot bed plus hotline ( white line)
Regardless of the + and -



4,Fourth step,keep hot bed black face down, adjust T-nuts angle ,trilateral
Alignment, place under the tripod, tighten the screws.
Do not print directly on heat bed, you need to put glass on the hot bed,

Use binder clip trilateral fixed grip.

PRREEAT, WETEIESRE, NEMATHER, T3R80,
EDEEERGR LTED, EENGE ERERRER , SRKEE =BT,




5, Fifth step, modify the parameter in the firmware,changing *0” to “1” is ok

/{0 is not used

// 1 is 100k thermistor — best choice for EPCOS 100k (4. Tk pul
/7 2 is 200k thermistor — ATC Semitec 204GT-2 (4. 7k pullup)
/{3 is mendel-parts thermistor (4. 7k pullup)

/7 4 is 10k thermistor !! do not use it for a hotend. It gives
// 5 is 100K thermistor — ATC Semitec 104GT-2 (Used in ParCan)
// B is 100k EPCOS - Not as accurate as table 1 (created using
// T is 100k Honeywell thermistor 135-104LAG-J01 (4. 7k pullup)
/{71 is 100k Honeywell thermistor 135-104LAF-J01 (4. Tk pullur
// 8 is 100k 0603 SMD Vishay NTCSO603E3104FXT (4. Tk pullup)

/7 9 is 100k GE Sensing AL03006-58. 2K-97-G1 (4. Tk pullup)

/f 10 is 100k RS thermistor 198-961 (4. 7k pullup)

[/ 60 is 100k Maker’s Tool Works Kapton Bed Thermister

I
I 1k ohm pullup tables - This is not normal, wyou would has
I {(but gives greater accuracy and mc¢

/f 51 is 100k thermistor — EPCOS (1k pullup)
// 52 is 200k thermistor — ATC Semitec 204GT-2 (1k pullup)
[/ 55 is 100k thermistor — ATC Semitec 104GT-2 (Used in ParCar

#define TEMP_SENSOR_0 5 //
#define TENP_SENSOR_1 O
#define TEMP_SENSOR_2 0 //
#define TEMP_SENSOR_BED 0 //

// This makes t sensor 1 a redundant sensor for sensor 0. 1
//#define _SENSOR_1_AS _REDUNDANT
_REDUNDANT_TEMP_SENSOR_DIFF 10,

Fp GO SRR S S S S AR SN A AN S S AN IO T S AT 2

After modify,then flash firmware again, could use the heated bed.

#define TEMP_SENSOR 0 5 //
#define TEMP_SENSOR_1 0
#define TEMP_SENSOR 2 0 /|
#define TEMP_SENSOR_BED 1 //



Object Flacement |Slicer |Preview| Manual Control -SD Card

G-Code: | Send I
U

Extruder 1 B JE 194.20°C rdVURSS
|

Debug Options

[. Echo ][O Info ][o Errors ][. Dry Run ] [OK]

Most and most important thing is

be careful for Safety !




